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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question, paper.

2. Attempt all questions.
3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

‘paper.
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(a) “Variable cost may be direct or indirect.” Is it

true? If so illustrate giving two examples.

(b).“Cost Accounts are the key to the economy in
manufacturing sector and are indispensable to the
intelligent and economica'l management of a
factory.” In the light of this statement, Eiplain
the advantages of Cost Accounting. (5,10)

OR

(a) What are the similarities and dissimilarities between

Job costing and Contract Costing.

(b) “Limitations of financial accounting have made the
management to realize the importance of cost

accounting.” Comment. (5,10)
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(a) The quarterly production of a company’s product
which has a steady market is 20,000 units.v Each
unit of product requires 0.5 kg. of raw material.
The cost of placing one order for raw material is
Z100 and the inventory carrying cost is ¥2 per

annum per kg. The lead tirhe for procurement of
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raw material i y
aterial is 36 days and a safety stock of (iii) State the number of orders which the

company should place to minimize the costs

1,000 kg of raw materials is maintained by the
after taking EOQ into consideration.

company. The company has been able to negotiate
the following discount structure wifh the raw 2

material Supplier 3

(b) What do you mean by labor turnover? What are

the cost associated with it? How would you treat

' Order.Quantity Discount per order
Kg. ‘
° ) 4 these cost in the cost accounting? (5)
Below - 6,000
NIL
: OR
6,000 - 8,000 400
8,000 — 16.000 ‘ (a) A company’s basic wage rate is .60 per hour
16 06D Sy | 2,000 and its overtime rates are :
) - 30,000
s 3,200 Evening - time and one-third
5 - 45,000 gl
4,000 Weekend - Double the time

- You are required to
4 .- During the previous year the following hours were

(i) Calculate the re-order point taking 30 days b

in a mont
¢ g Normal time 2,20,000 clock hours

20,000 clock hours

- (i) Prepare a statement showing the total cost P pissimne i

of pro
procurement and storage of raw Double-time 10,000 clock hours

materials after considering the discount if
Three jobs have been worked on the following

the company selects to place one, two, four

or six orders in the year, time periods :

|
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Job 1 Job 11 Job III

Clock hrs. Clock hrs. Clock hrs.

Normal time 3,000 5,000 4,000
 Evening overtime 300 600 1,050

Weekend overtime 100 50 300

You are required to calculate the labour cost
chargeable to each job in each of the following

circumstances :

(i) Where overtime is worked regularly
throughout the year as the policy of the
company due to labour shortage.

(i) Where overtime is worked specialiy at the
request of the customer. i (10)

(b) Explain how you would differentiate between
normal and abnormal wastages of material and
their treatment in the cost accounts. (5)
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A= - 6,000 i)
6,000 - 8,000. 400
8,000 - 16,000 2,000
16,000 - 30,000 3,200
30,000 - 45,000 4,000
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| ' s w2 3. (a) From the following data, work out the pre-
b Sl o determined machine hour rates for Departments
S : A and B of a factory:
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Preliminary estimates of expenses The following information is available :
‘Total Dept. A Dept. B
Deptt. A Deptt. B
z 3 z : . P
POWCI‘ i 15,000 ____________ EStlmated dlreCt 1ab0ur hOurS 80’000 1’20’000
Spare parts 8,000 3,000 5,000 ; Ratio of K.W. rating 3 b
Consumable stores 5,000 2,000 3,000 Bt e machine hoiirs 25,000 1
Depreciation on machinery 30,000 10,000 20,000 P i
Insurance on machinery 3000 @ sememt e s space (sq. ) 15,000 20,000
Indirect Labour 40,000 - = ¢ : (10)
Building maintenance T.000 7= VRERRE 8 e i
. : : 5 (b) What is Activity Based Costing system? Explain
The final estimates-are to be prepared on the basis its conceptual framework. (5)
of above figures after considering the following : ‘
factors : OR
(i) An increase of 10 percent in price of spare (a) In a factory, overheads of a particular d‘epartfnent
parts. are recovered on the basis of Rs. 5 per machine

hour. The total i
(i), An increase of 20 percent i b expenses incurred and the actual

: : machin
consumption of spare parts for department e hours for the department for the month

of August were Rs. 80,000 and 10,000 hours,

B only.
| respectively. Of the amount of Rs. 80,000,
(iii) Increase in the straight line depreciation Rs. 15,000 became payable due to an award of
. . ’ o
j from 10 percent on the original value of ~ the Labour Court and Rs. 5,000 was in respect of
machinery to 12 percent. i
' expenses of the previous year booked in the current

month (August). Actual production was 40,000

(iv) 15 percent general increase in wage rates.
units, of which 30,000 units were sold. On

P,
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analysing the reason, it was found that 60% of the
under-absorbed overhead was due to defective
planning and the rest was attributed to normal cost
increase. How would you treat the under absorbed

" overhead in the cost accounts? (10)

(b) ‘Describe Allocation, Absorption and Apportionment
of overheads. £5)

() B sl 3, v e & P A o B
@ forg o - PR sy R o < A o Ao -

Wl @ AR FATHA
Fw  fem A faww B

g 4 z 4
e 15,000 --- ---
AR A ‘ 8,000 3,000 5,000
IO WER 5,000 2,000 3,000
REE T T I . 30,000 - 10,000 20,000
AHAY TR A 3,000 --- ---
JTTE HH 40,000 -—- ---

Yo @ - @E 7,000 --- ---
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From the following data relating to a manufacturing

company ‘New Wave Ltd., you are required to

compute the cost of production (Using New Cost

Accounting Standards)bz

658 15

Cost items Amount )]
Raw materials purchased 25,60,000
Opening stock of raw materials 1,15,200
Closing stock of raw materials 1,78,400
Employee cost paid 9,28,000
Value of opening Work-in-process 1,62,400
Value of closing Work-in-process 240,840
Repair & maintenance - plant & machinery 3,92,200
Insurance premium - plant & machinery 38,400 |
Quality control cost incurred for the products 34,400
Research & development cost for

improvement in production process 37,040
Administrative cost for :

— Factory & ﬁrod_uction 3,60,000
—  Others 4,64,000
Amount realized frbm sale of scrap

(manufacturing process) 3,680

Packi.ng cost necessary to preserve the

goods for further processing 4,080
Salary paid to Director 3,56,000

P.T.0:
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i: | ‘ OR Closing Work in Progress 361,260
| 3 L ’ o d
u“ The following cost details were provided by the - Quality Control Cost 51,600
| ‘ . accountant of Veta Ltd. relating to a product for the 3 ; ®
‘ R h and Devel t
: \ period ended December, 2020. You are required to esearcj P s e B 33600
| :
;1} , compute cost of production (using New Cost Administrative Overheads relating :
\ Accounting Standards) : . to Production : 540,000
i ~ '
\.“ ; ‘ J ; Administrative Overheads not
il Opening Direct Material 172,300 ; :
| G _relating to Production 696,000
i Direct Material Purchases 3-840,000 PadliiGaet (Primary) : 6.120
' I'y s
\ ALY - 267,60 '
Il Closing Direct Material 7,600 Scihp Remtised 5,520
i “ ‘ Direct Employee Cost - 322000 Salary paid to Director 543,000
\{ Direct Expenses 30,000
\

Ftor ot w3 fafRe A Gal T SO
| Repairs & Maintenance for Plant q ¥ 7,

| and Machinery 588,300 T B I A A W FEA B (T AR i
’ | AR H ITANT FR ) -

|
\ y .

i Insurance Premium paid for
|

l Plant and Machinery 57,600 i | : T (3)
l‘ i ki > 25,60,000
\“ Manufacturing Overheads . Y ATH &7 A9 2w 1’15:200

1] FY W FT FAT w2t y
ik : FHATL ST T T SE S
| w\‘ Opening Work in Progress 243,600 5. S e 9,28,000
| w“\; et s el 1,62,400
i , _ ? AT 240,840

\\ i ‘ PO
| .
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\ 1 T AR TETETE - §47 A qefiEd 3,92,200 fotior Sireegd
;l‘ 1 dtur ity - @4 i Adfiad 38,400
! Ieqret ¥ forg f s qorar e an 34,400 . oy
i;\ e ST 3 T ¥ R T v Fae e 37,040 St ® 243,600
“‘ ‘ = fore e R e
| B e 3,60,000 TN I WA W) 361,260
g‘ - w » 4,64,000 ' i
‘ g $it faefY & yrw afer (@rfwtor g 3,680 .
| iy B 5T 35 R T A SRR 7 o e & 4,080 T AT S 51,600
(it foreres 1 e o 3,56,000 _ ,
\\ | Faer 3R fawm anm 55,560
| at '
| .
# IAeT ¥ wElE weeE IuRem 540,000
filil R, 2020 H T A F oY TR Iewe |/ GEE e
l’ - ey : Moy e e mmﬁwﬁmﬂaﬁ% 696,000
“%3 A FTR IET TN T FEA B (A A SEw e e () 6,120
i g - ’
AR H ITAT F@)
i
| } @ 5,520
| T yeaeE 172,800 '
\ » : v =t Rar A '543,000
vy Al @ 3,840,000
| -
H i A 5. 2,008 un}ts have been transferred to a process from
| ‘ the previous process at a cost of Z68,000. Costs
| w W& HHAR AT -+ 1,392,000 incurred at the process include a purchase of additional
il :
| ; chemical materi i
\\ e $0%50 aterials of 50 containers of 20 kg. each at
| ‘\‘ . a cost of ¥ 60 per container. Other costs incurred at
l “‘ TE IR WEY B o e AR W@ 588,300 the process are Rs. 26,294. Generally 5% of input
| i U Bt N ::t_z alI: ;ar:e;ied in the process. The damaged units
Ril Al 1 _ -S0 er unit. Empty containers ar 1d
Rl o A 57,600 . e i

‘\H " : P.T.O.
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at X 6 per container, but 2% of containers get damaged

s
and become worthless.

During the week for which the cost details are given,
a total of 1,930 units were finished at the process but
only 47 empty containers could be sold and the rest
were damaged. 700 units produced at the process
were sold outside @ T 80 per unit. Rest of the process

output was transferred to the next process.

Prepare Proceés A/c, Normal Loss A/c, Abnormal
Loss/Gain A/c and Costing P&L Alc. (15)

OR

(a) Indicate the reason why it is ﬁsually necessary ,

for the cost and financial records of a company to
be reconciled and explain the differences which

might enter into reconciliation.

(b) A lorry starts with a load of 40 tonnes of goods
from station A. It unloads 16 tonnes at station
B and rest of goods at station C. It reaches
back directly to station A after getting reloaded

with 32 tonnes of goods at station C. The distance

658 21
between A and B, B to C and then from C to A
are 80 km., 120 km, and 160 km, respectively.

Calculate Absolute tonne- km and Commercial

tonne-km.

(c) Pass the Journal Entries in the cost Books
(non-Integrated system) for the following

Transactions:

(i) Material worth 25,000 returned to stores
from the job.

(ii) Gross total wages paid ¥48,000.

(iii) Employers contribution to the provident
! fund and state insurance amounted to
%2000

(iv) Wages analysis book detailed % 20,000 for
direct labour, ¥12,000 towards indirect
factory labour, ?_10,000 towards salaries
to the office staff and ¥ 8,000 towards the
salaries to the selling and Distribution staff.

(5,5,5)

P.T.O.
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% 68,000 & WA A 2,000 FHEA H T wfEar @ v
wigar ¥ wEiaRa frar T 21 3@ ik § B Al @R
F 20 forehl & 50 w0t AR TeEHS TP N @l
e 21 9 ¥ T 60 WA FOR N AW G T@ wwA
¥ fry T o W T 26,294 21 I AR W T@ whhar A
5% TAIC SEAl afeuE B W 81 afed swEd Rl
720 W gfe @ W ¥ A T B @ HER T 6 W
FEW W A TR &, M 2% HoR @ & 9 & R
¥R B T F

e e & fog e & o far w2, S| wfwea
¥ & 1,930 THEERE @A B W, AfA Fad 47 @
FOW B I T gD 3N W GfAd B W W Wik A
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(@) T ARG RIT A ¥ 40 TH AA F UK H A T
Bl 1 98 RIA B W 16 T 3R ®WIF C W &kl
FAF AR 21 98 RIF C W 32 T WA & A
T AT BN @ 9E @Y R A W UETR 21 A 3R
B, B C3Rf C¥ A= a9 &t 30 HAT: 80
R, 120 R 3R 160 TR 21 fRAE TA-TR SR
Tiftifsaes e- ol &t o i)

(@) FrfRem a7 & foe o aRa (de-gepd
o) ¥ ek W W R

(i) 225,000 < @EEA ST A THEA W Sler & TN
(i) SEEE foa @ @6 F 9T < 48,0001

(i) Wi ffer R a5 dn ¥ P w0 dves

% 2000 |
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(iv) ol faveor gee 3 weaer s™ & forg 220,000,
Iy wREE & wfRe @ e 212,000,
el % wRA B 3 @ B 10,000
IR st 3R fammor sl & 99w & fog
% 8,000 &I famror faar wmar 2
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